University of Maryland Fall 2016
ENCE353: Introduction to Structural Analysis Due: 11/28/2016

Homework #5
Note: Show all work, provide all answers in inches and radians
Problem 1

a) Use virtual work to determine the vertical displacement of C
b) Use virtual work to determine the horizontal displacement of E

Area of members: A p = Ayc = Apc = 3 in? Agp = Acp = Acg = Apg = 5 in?
E = 29,000 ksi for all members
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Problem 2

a) Use virtual work to determine the rotation at A
b) Use virtual work to determine the vertical displacement of C

E = 29,000 ksi, I = 100 in.*

(EI) AB — EI
(EDgc = 2EI
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